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C:\Users\Your Name>python —version
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https://www.python.org
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Guido van Rossum -
syntax -

procedural -
functional -
indentation -
command line -
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https://www.python.org/

23903 >l python Hgiws cOlayd Jas 3 OlgS (5 ygiws o @ GilojT Sy
D:\>python

Python 3.8.5 (tags/v3.8.5:580fbb0, Jul 20 2020, 15:43:08) [MSC v.1926 32 bit (Intel)]
on win32

Type "help", "copyright", "credits" or "license" for more information.

>>>

Aeled [yl 55 sgiws Jle Hgb 4 dmled Ll ) Ogial Whgiuws dilgi s bads >>> 0l OLL L
print("Hello, World!")

Jol s Slygins Sy Sl 0loyd Jas- 4 exit() y5id b 050b Slygios Syl plodl 3 oy
23,55

BB SO o ol didigd (gl Wl giwd Sy
s 55 s 3903 0453 Py Wi b 9 g (e Salpg 42 03 Olgis b Ogil Sladalyy

22 s e jeb dy (il odd dislids g Sl b BB e 12 g3) D903 bl ) 0T Oleyd
a3 1,3 testl ) ol pb g dpwgis ,Sawlng S )

print("Hello, World!")
Awoled bp-\‘)::) Oyguo D Oloyd bz o) bl o)
C:\Users\Your Name>python test1.py
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x=5
y - "JOhn"

X e £95 Ml ) olgiuns 53 S il Wlgis JB393 Chygie b i pamass b e g9
.JJSL;J&&MJQLSJ@QWUJASW\WJJL

x=4
x = "Sally"
print(x)
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x ="John"
x ='John'

)3 9 SzgS B9y d Ogil Aal (L) 2 bas 9 B> cade 3l (S5 Wilgi s Wapiite pb
S5 £9,4 Wi sde b _pita o 9 el ol
D10 Gl it Lz o ) Hldde dizr ) Hgiuwd b Olgics
X, ¥, z="0range", "Banana", "Cherry"
1S S g iz ) e SO b 9
x=y=z="0range"
D903 pazx @b ) piie 99 0193 (o + ) ooliwl b .l psie Hlude Jiwled Sl print b

x="Pythonis"
y = "awesome"
Z=X+Yy
print(z)

x=5

y=10

print(x +v)

el Jale ) ) giwd

x=5
y ="John"
printhx + )

831> g1l

1S 2 Bledan ) 0als $lgil 51 gl (o3 i Hebo

Text Type str

Numeric Types int, float, complex

Sequence Types list, tuple, range

Mapping Type dict

Set Types set, frozenset

single or double quotes - A



Boolean Type bool

Binary Types bytes, bytearray, memoryview

1 gad o&W\xj Oyguo D QbSu’ type eb Jleoals &9) Bl &M.b\ st.g
Xx=5
print(type(x))

2l ab L plea aSTGloaile aolgi 3l Lol .39 2 aaad OF §65 psie du e amass Ol o
1o .3, ealaiwl 0313 I (905 £45 Canpad Sl Olg 2 i

x = float(20)

3,81 ags (g)lae! sue X _pako £ S92 sl S Cowl Slodi)le 26 oG float Y )giwws 5o
D9 TuSuo SIS (X e £gd g4 odlaiwl oddjl 2B (il

Ogib yo due

IS dde £o5 duw (23 iy Chygae 4

€ atd RSVR )
x=1
y =35656222554887711
z=-3255522
D15 3929 (-»Lé)\ Ay (09l
Slcldue o
x=1.10
y=1.0
z=-35.59
4 39 s 03liwsl € )l (GHlael dde iwled Sl (B8 .3l 3529 )] sldad )5 (Ju39d=e
ol 03 g3 o lid
X =35e3
y=12E4
z=-87.7e100

y =12E4 = 12 x 10*

constructor function - 4
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Do 2 0000 Hiolad j By ool b (g)lie] Caund

X = 3+45j
y=5]
z=-5j

P2 4 Gliel g Toue due 3983 poge ) ik E93 OlgSs complex() s float() cint() g b
S5 o (6,503 g5 4 Jalise sae Lol g s o Jalise 4 g

0313 $93 nds

229 dxgd Jlie 3903 g9 |y OlegS)T g9b Olgics str() s float() cint() glss b
x = int(1) # x will be 1

y = int(2.8) # y will be 2

z = int("3") # z will be 3

x = float(1) # x will be 1.0
y = float(2.8) # y will be 2.8
z = float("3") # z will be 3.0
w = float("4.2") # w will be 4.2
x = str("s1") # x will be 's1'

y = str(2) # y will be '2'

z = str(3.0) # z will be '3.0°'

Sy Aie
I (95 0l 95 ol 9 Lgd s iyad B0 b 58 JgB Ji5 b ladidyy el iaS oS jgboles
Dgal dlagl (Jas-diz Gl pice o Qbdw Jgd J8 SHL 0lgis

a = Lorem ipsum dolor sit amet,
consectetur adipiscing elit,

sed do eiusmod tempor incididunt
ut labore et dolore magna aliqua.
print(a)

a = Lorem ipsum dolor sit amet,
consectetur adipiscing elit,

sed do eiusmod tempor incididunt

ut labore et dolore magna aliqua.'''
print(a)



a5 Col b 3 Gl Oled 09l yd Gldik) pie cdgldin (quwgd daliy SOL) Jig.) Sile
Oled ASHE 9 35105 929 ASHE 0315 £93 Ogialy 1o Abls 41,8 OT Hd WSS g GISUS b Y sShHE
35S oalasel [] 51 Olgi s bl solic ds (qwiwd Sl .Cawl 001 SH wlyl

a = "Hello, World!"
print(a[1])

ol yao (gl Al il .add s Gioled |y SO il b dils aie YL oS

b = "Hello, World!"
print(b[2:5])

C)‘jsu' ) g u,ug..k.':‘ (JZS!)SM) dgdoc2 031D U“MQLA.J (0 ugdu) OUY o)leis s )’b JS&).)
Ll 3 Gilads b 43y oS sl =) Gl Shls j3-T dils .S (s dusslons didy Slgil 1 48 cisls
S 2 paseinn |y (Y O9) Y 60 o)l A=

b = "Hello, World!"
print(b[-5:-2])
L3108 2 1) 4y Jgb dlen() b

a = "Hello, World!"
print(len(a))

Sy SLapiie Sl dade @b Lz
strip() RB L i) w95 )l dhold Od> @

a =" Hello, World! "
print(a.strip()) # returns "Hello, World!"

lower() SzsS Bg,> 45 a5 o
upper() S gy 4 s e
replace() S5 4t 1) o b ity 1) S @iSlr
a ="Hello, World!"
print(a.replace("H", "J"))
split() auiy eauds  ®
a = "Hello, World!"
print(a.split(",")) # returns ['Hello', " World!']

NOt in 9in ,Sos didyy 1) 4o did) ) U 3929 (s @



txt = "The rain in Spain stays mainly in the plain"
x="ain" in txt

print(x)
+ L diiy 9o Juall e
format() UL aiy bode S5 o
age =36
age =36

txt = "My name is John, and | am {}"
print(txt.format(age))

quantity =3

itemno = 567

price = 49.95

myorder ="l want {} pieces of item {} for {} dollars."
print(myorder.format(quantity, itemno, price))

guantity = 3

itemno =567

price = 49.95

myorder ="l want to pay {2} dollars for {0} pieces of item {1}."
print(myorder.format(quantity, itemno, price))

02 s AS|yE
dgad o3l LT 51 U3 '\ ASHE I bl ol sl iShE ol )y

txt = "We are the so-called \"Vikings\" from the north."

KUY e AS)HE
\' &K Jgd Jas
\\ \

\n Ld> s
\t tab
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4S 315 3929 Ol )5 oL il WS 2 0433 395 5o |y False b True Hluie 45 3o i
g9 3l e S5 4S WS (o) B 39)2 48 4 A isinstance() @b Jie i30S 2 5k 2 e

AL cw ool
x =200
print(isinstance(x, int))
Ogib 90 BySles -¥
‘éw’g&ﬁ o

Operator Name Example

+ Addition X+y

- Subtraction X—y

* Multiplication x*y

/ Division x/y

% Modulus X%y

ok Exponentiation X *¥*y

// Floor division x//y

L,:L«J&)gko.c °



Operator Example Same As
= Xx=5 x=5

4= X+=3 X=X+3
= x-=3 XxX=x-3

*= X *¥=3 Xx=x%*3
/= x/=3 x=x/3

%= X%=3 X=x%3
//= x//=3 x=x//3
* ok x **= 3 X =x **3
&= Xx&=3 Xx=x&3
= x|=3 x=x|3

A= xA=13 x=x"3
>>= X>>=3 X=x>>3
<<= X <<=3 X=Xx<<3
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Operator Name Example

== Equal X==y

1= Not equal xl=y

> Greater than X>y

< Less than X<y

>= Greater than or equal to X>=y

<= Less than or equal to X<=y

d"ﬂaujgla.c °
Operator Description Example
and Returns True if both statements are x<5and x<10
true

or Returns True if one of the statementsis | x<5o0rx<4

true




not Reverse the result, returns False if the not(x <5 and x <
result is true 10)
(identity operator) 3ledcpl ;Shes
Operator Description Example
is Returns True if both variables are the Xisy
same object
is not Returns True if both variables are not xisnoty
the same object
&39—,&' ,S.Lc.c-/ °
Operator Description Example
in Returns True if a sequence with the xiny
specified value is present in the object
not in Returns True if a sequence with the xnotiny
specified value is not present in the
object
S Ses o
Operator Name Description
& AND Sets each bit to 1 if both bits are 1
OR Sets each bit to 1 if one of two bitsis 1




2 XOR Sets each bit to 1 if only one of two bits is 1

~ NOT Inverts all the bits

<< Zero fill left | Shift left by pushing zeros in from the right and
shift let the leftmost bits fall off

>> Signed Shift right by pushing copies of the leftmost bit

right shift in from the left, and let the rightmost bits fall off

Og2b )3 (Bas gazma) )T -F
Cowd L List o

Ald D99 QT_).} Lilgd 2 2 6)%\,‘,4)& Wl puss (BB g 3yl ey 45@\)‘ 4dc goxo &3
‘_sbbf,a.l.c- 0313\ ol (G rwd UTJ‘,oLg.C- LY L')‘j-.’.u' UMQ'U‘ b Dgdu s g_.a:{).a.'s c[] cC}Sbe J.wb
Dledi g Ll j dS WS Cdbys ilgi 2 2 (fie (] .l a0 ]

Wl =) Sl SHIS y3 aaie

B il by
thislist = ["a", "b", "c", "d", "e", "f"]
print(thislist[1]) #b
print(thislist[-1]) #f
print(thislist[2:5]) #['c','d’, 'e']
D 9o 03 0315 Giwled ey maise

print(thislist[:4])
s il b _pai b6 s il b pai 5|
print(thislist[2:])
PTG p9s il b _saie
print(thislist[-4:-1]) #['c', 'd", 'e']

Do s 43,8 Jlas y (5T saie



thislist[1] = "ss"

'ss'bb Sl

for x in thislist:
print(x)

ole b gwiwd Slp dal> 3l oolasiw!

if "c" in thislist:
print("Yes, 'c'is in the list")

print(len(thislist)) #6
wlyl polic sluas
thislist.append("g")
Cod Sl ) paie 00505 48l
thislist.insert(1, "bb")
S5 OL) o gl 60 il 53 "bb" 7
thislist.remove("c")
ks Al
thislist.pop()

s oyl Rl 009 JB Wygue o il (el Wilg e Rl 13 L kil SS L _saie Bl

Dedu 2 Bl
del thislist[0]
s Al
del thislist
Gt 0332 (02 )

thislist.clear()
DI 2929 bol Cawl (505 Gt fwnd G905 15
wa&w@s

Gl Canydl )y giwd



J9l e
mylist = list(thislist)

.Cewl thislist (oS 48 mylist pU 4 dyda> Caud sl

P9I L)
mylist = thislist.copy()
H
2505 G @ ) 5 3905 DL
listl =["a", "b", "c"]
list2 =[1, 2, 3]
Jol Jagy
list3 = list1 + list2
P95 LA
for x in list2:
listl.append(x)
P9 9

listl.extend(list2)

#

list() 043l 22 31 oolasil b Coud sl

thislist = list(("apple", "banana", "cherry")) # note the double round-brackets
print(thislist)

QbLiz L Tuple o

Aiild 3929 OF 3 Lilgi 2 @ LSS paie s i b8 9 3)15 (33 aS Ll 1 de oz SO
SIS i () sl (i and OT_polie 4 Olics a9z inya of) 6y b ol
ol ShIs 431 paie ylads s Ll 3 4 WS Cdlyd Wilgi s e (fie bl .l yauo uad]

sl S i O )3 (oSl 3,58 .l -

n n

thistuple = ("apple", "banana", "cherry")
print(thistuple)



DB 40T Gl b o Shgies 9 dil> 0552 G dline .8 Olgis b OT gb len() 26 L
2Ape or I KU del ygiws 3y

£33 g ol A 53 . uiliS JoS9 Wb gunne OT Sl 4o Wi gune SO b L slwl sl
WD ddlgss ol ol slwl olo

thistuple = ("apple",)

a1y OT Wb, ol Gl 0l s b 9 3903 d8Ls! 0T dy b 03,8 B> O 31 Olg3 03 G pais gud
.uu\;)fﬁ 2)bgd 9 3y plxdl ol Lsg)ﬁb@'))ﬁ.gﬂ WDgad bdd Cawd

n n

x = ("apple", "banana", "cherry")
y = list(x)

y[1] = "kiwi"

X = tuple(y)

Cansl 033l SO tuple() @b ooy Wiz BB S 53 9 3903 gead + 55w b Olgis ) LG 9
Bge dlol LGSO oTL Olgi s a5

n n

thistuple = tuple(("apple", "banana", "cherry")) # note the double round-brackets
dcgoxobSet o

gz 031 inled {}L 45 Gupadl 9y 9 350l Slde gaa

thisset = {"apple", "banana", "cherry"}
print(thisset)

]S (g fwd L@"T 4 dal> in ) giwwd  oolaswl b O3 2 Lol cd3ylas puadd! Ol Blacl

thisset = {"apple", "banana", "cherry"}
for x in thisset:
print(x)

update() s add() @b b Lol .t pead BB Gioliacl .d dis b de gazme picio S5 45 3o
2)S Lol paie iz b S il b Ol

thisset = {"apple", "banana", "cherry"}
thisset.add("orange")

thisset.update(["orange", "mango", "grapes"])

Bl dcgazme I paie B> Sl 392 oolaiwl len() @b 1 ¢ solie sl 0391 Caws 4 Sy
Lol .aa3 2 Uas remove() xb (lild degozxeo 20 _paie ,S| 5g8 s oslaiwl discard() s remove()
1S o p3lan a8 (3T 40l) WS 5 ki |y gae () POP() s onss 4355l discard|()

S (2 390 ]y de gaze del hgiued LS 2 1) degamae clear() @b L (Asb



thisset = {"apple", "banana", "cherry"}
thisset.remove("banana")

thisset = {"apple", "banana", "cherry"}
thisset.discard("banana")

x = thisset.pop()
thisset.clear()

del thisset

2Fw3 93l b (LSS rolie .3)15 3,06 de gazxo 93 plesl Sl update() 5 union() Hgiws 93
Setl - {Ilall, Ilbll , "C"}

set2 ={1, 2, 3}

set3 = setl.union(set2)

Setl = {Ilall’ Ilbll , IICII}
set2 ={1, 2, 3}
setl.update(set2)
DI 929 3 set() saiil 2l de gaze S dlml Sl
thisset = set(("apple", "banana", "cherry")) # note the double round-brackets

Dictionary °

b g Gl o 5 IS Jolis 0T _paie 1o dS o0 (55108 Lundil g auss Jold c3 el (Slde gazxa

Dy g wi-le {}
thisdict = {
"brand": "Ford",
||mode|||: "Mustang"/
"year": 1964
}
o2 get() 51 L 9 3,8 Glgd 1) 925 4 ) i A Olgis pake S s 4 Oy 12
Wy
X = thisdict["model"]

X
1}

thisdict.get("model™)



D1 xS @2 ) paie S5 i Al oolatwl b Olg3 s

thisdict = {
"brand": "Ford",
"model": "Mustang",
"year": 1964

}
thisdict["year"] = 2018
232 Ginled (S0 S b LA 1) Wl giuws L3903 oalaiwl Ol 2 oo for dil>

for x in thisdict:
print(x)

2302 inled oo b olke ) Slgines

for x in thisdict:
print(thisdict[x])

Cdgs ) Cgue 4 palie igled Sl Olgis b

for x in thisdict.values():
print(x)

Bl Cwd paie y2 Hldde 9 A 4 0lg3 2 Olejea item() @b i oalaiwl b

for x, y in thisdict.items():
print(x, y)

3y 0543 OlgS 2 iN Hgiwd )l L;jx.&.i:a)a J;*Sgig 2929 (o) Sl

thisdict = {
"brand": "Ford",
"model": "Mustang",
"year": 1964
}
if "model" in thisdict:
print("Yes, 'model' is one of the keys in the thisdict dictionary")

Sl paie sldad Goyleds Sl len() U
D903 Aol (GAESY b il yaie S0 Olgie Joda dulS SOl oalasiw! b

thisdict = {
"brand": "Ford",
"model": "Mustang",
"year": 1964



}

thisdict["color"] = "red"
print(thisdict)

thisdict = {
"brand": "Ford",
"model": "Mustang",
"year": 1964
}
thisdict.pop("model")
print(thisdict)

thisdict = {
"brand": "Ford",
"model": "Mustang",
"year": 1964

}
del thisdict["model"]

del thisdict

thisdict.clear()

myfamily = {

"child1" : {
"name" : "Emil",
"year" : 2004

2

"child2" : {
"name" : "Tobias",
"year" : 2007

}I

S Bl |y pastiin JS SH L paie S pop() &6

3y 052 Olgi e B> Sl o del Hgiws )

Dy o8 I GAES pled ) ) grues
WS 2 JB b GABSS 1) ygiuws Ll
SIAY GALSS

ik (GAESID 393 (ALY polis

slasy LSMJ el J9l U9 9)



"child3" :{

"name" : "Linus",

"year" : 2011

}

}

childl = {
"name" : "Emil",
"year" : 2004

}

child2 = {
"name" : "Tobias",
"year" : 2007

}

child3 = {
"name" : "Linus",
"year" : 2011

}

myfamily = {
“child1" : childl,
"child2" : child2,
"child3" : child3

}

£9> P9

D)yl 3929 LSJL"&S_Q.) ol st.': dlc() o.b)l.w &-’B

thisdict = dict(brand="Ford", model="Mustang", year=1964)
# note that keywords are not string literals
# note the use of equals rather than colon for the assignment

print(thisdict)

C;\lz..gqby" -0

Sl B_ASHE ol 5 das Sladiingd plad .09 2 ooliswl # ASHE 1 Jas (S5 )0 s 95 dlmal Sl

#This is a comment
print("Hello, World!")

Dgdi s 48,8 4 50 b g5 dlex

W g 2 ool didgd Slgl g 1ol Ho Jgd Ja Cwadle duw ) (Jasdiz Olus g3 sl Sy

IS 9las aiBs g ik Jgd Jas
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This is a comment
written in
more than just one line

P Dlygiws -7
il if 3,8 3 e ) Olygiws @

a=33
b =200
if b> a:
print("b is greater than a")

vt 09l 33 $38)55 b S cpl Is 3929 (5 s Sob (G Al 9 o ol gns 3l
Al b OLuSs Sols o _solie Sl o Olise Lol .l olg3ds $38) 93 Oline -39 2

elif jgiws o

a=33
b=33
if b> a:
print("b is greater than a")
elifa=="h:
print("a and b are equal")

else ygiws o

a=200
b=33
if b> a:

print("b is greater than a")
elifa==h:

print("a and b are equal")
else:

print("a is greater than b")

oUisSif ygiws @
if a > b: print("a is greater than b")
oBgSif ... else ygiws o

a=2
b =330
print("A") if a > b else print("B")

Yy



if x>10:
print("Above ten,")
if x> 20:
print("and also above 20!")
else:
print("but not above 20.")

while ygiwd -V

i=1

while i< 6:
print(i)
i+=1

i=1
while i< 6:
print(i)
ifi == 3:
break
i+=1

#

i=0
while i< 6:
i+=1
if i ==3:
continue
print(i)

i=1

while i< 6:
print(i)
i+=1

Yy

PP b ogiws e

Cawl 0l 133 )3 While )giws 31 Jlie

continue g break ygiws o

ddl> yo else ygiwd o



else:
print("i is no longer less than 6")

for ygiws -A
for jgiws jl gladle e

n n

fruits = ["apple", "banana", "cherry"]
for x in fruits:
print(x)

didyy SO Sy for s

for x in "banana":
print(x)

dal> )3 odhleds (fld Sl range() xU )l oolaiw! o

for x in range(6):

print(x)
O -l Giylads
for x in range(2, 6):
print(x)
OG Y ) Syl

for x in range(2, 30, 3):
print(x)
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02083 -2
draogis [y 1) GLdsly Ggilh adilulS )l oalatwl g @
Lo b 0T aie ()5 ol 39290 55 4T -
n=[23, 3, 45,96, 11, 7, 36, 9, 27, 85]
S 3y [y YU T -
Sl ) (lgmd didy sde (s -
IS wgSan |y ) iy -¥
Str1='Semnan University'
dulo b ) dde 93 .0.0.0 Hlude -0
n =654, m =744
dolo ) Job sue Hlez -7

Al (sde 395 ) A8 Srddepgudo

LS Ol 'yes' 0dg Jgl Gygae )3 .l J9l N=23543 due LT wled (gwy o -V
Ll Ol h Y BY e o Jglolael -A

(0 Jbwe ygb d) WS Ol 1) 1) ey n=? Sl -9

%k %k sk kk
* %k %k k
* %k k

* %k

23 5,8 75 OT Sl 9 WS B>y @ LBy> ) didyy 31 - -

Str1='Semnan University'
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